Total No. of Questions : 5] SEAT No. :
P2842

[Total No. of Pages : 4
[5615]»1004

F.Y. B.Comn(Semester - 1)

BUSINESS MATHEMATICS AND STATISTICS - |

Time: 3Hoursg]

(2Q19-Pattern) (CBCS) (3 Credits)

[Max. Marks: 70

I nstructions to the candidates:

All questionstare compulsory.

Figures to the right indicate full marks.

Use-0f |ogarithmic table and calculator is allowed.
Use of~graph paper is allowed.

1)
2)
3)
4)

Ql) 8

Answer thefollowing multiple choice questionsby selecting correct option

(anyfive) : [9]
1)  How much smpleinterest eafned a33100 for 6 months at 8% p.a.?
a 8 b) 48
Q) 4 \ d) 400

ii)

If the payments ¢f.an annuity are made at the end of each periodis
called.

a annuity due b) immediateannuity
C)  perpetuity d) status
The purchase price of a perpetuity of ¥ 150 per year at 10% p.a. is

a8 150 b) 1600

o) 15 d) £ 1500

The number of sharesif thetotal dividend at 8% on the shareswith
face valueI 10 was< 240 is )

8 300 b) 250
c) 200 dy” 350
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b)

v) If population is homogeneous, then IS better method for
sampling.
a Simplerandom sampling b) Stratified
c) Systematic d) two stage
vi) Rangeinthedataset'8,10, 20, 9, 15, 10, 13, 28, is
a 28 b) 8
c) 20 d) 055
vii) Themede of thedata 2, 8,9, 9, 17 is
a “10 b) 9
o) 3 d 17

State whether the following statements are True or False. (Any Five)[5]
) . Aampleinterest isdependsonly on period.

i) »*EMI means equated monthly instal|ment:

i) Preferred shares are guaranteed gash dividends.

Iv) Themid point of classinteraybetvween 10 and 11 is 10.5.

v) For asample at least 50%.0F poptitation required.

vi) If adataahaving coeffigient of variation is50 standard deviationis
20 then mean of data 1540,

vii) The median of thedata 149, 15, 8, 12is12.

Q2) Attempt any four of thefollowing : [20]

a)

b)

c)
d)

€)

f)

How long will it take fof ¥ 3000 to amount to ¥ 3300 at 4% p.a.
simpleinterest?

Find the difference between compound and simple interest aivk 500 For
2 years at 10% p.a. (compounded yearly).

Find the sum will amount to X 4000 in 3 years at 6% compound interest.

Suresh purchase a car for ¥ 10,00,000 on instalimentbasis under equal
24 monthly installments at 12% p.a. Find EiyH by féducing method.

Find the amount of annuity of ¥ 400 payable quarterly for 3yearsat 16%
p.a

Explainthetermssinking fund and simpleannuity.
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Q3) Attempt any two of thefollowing: [10]
a What isdividend? Explain cash dividend and stock dividend.

b) Ramrao invested < 2,50,000 in-amutual fund scheme with entry load of
1% and exist load 2% (for 3 years). He had to redeem all the units after 2
yearswhen net asset valuehad dropped to 2,30,000 In the mean while,
he has received g4ividend’of ¥ 15,000 what ishisgain or loss percent?

c) Two companieshaveshares of 12% at 134 and 16% at 135. In which of
the shares virauld the investment be more profitable?

Q4) Attempt any.two of thefollowing: [10]
a) Definestatistics. Writethe scope of statisticsin Industry and Economics.
b) What isdata collection? Write the methods of datacollection.
c) Explany SRSWOR and draw all possible SRS\{VOF\" of size 2 from the
observations 3, 4, 7, 9, 11 and 14, )
YAS
Q5) Attempt any Four of the following. D [20]
a) Forthefrequency distribution g&én {)gfow.
Daily sales : A
(inthousands Rs)) 1050 | 2030 | 30-40 | 40-50 |50 & above

No.of shops | ~ %2 [P23 | 47 | 10 8
N

Find

)  Class width of.sécond class.

i)  State open end class.

i)  Statetype of classification

iIv) Formlessthan cumulative frequency distribution:

v)  How many shops have sales |ess than 20,0007
b) Draw morethan ogive curvefor the followivg freguency distribution.
Marks 0-10 | 10-20| 20<30Y 30-49 | 40-50 | 50-60
No.of students| 3 9 15 30 18 5
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c) Compute the mode of the following frequency distribution.
Dally
Wages () 50-100 | 100-150/"150-200{ 200-250 | 250-300 | 300-350
No.of Workers 5 15 25 18 12 5
d) Findthearithméiic and’geometric mean of 2, 4, 8, 16, 32.
e) Two workers.on the same job shows the following results over along
period of<ine.
Worker A Worker B
M ean fime-0f-completing job 30 25
(inminutes) S, '
Standard deviation 06 04

1) ¥ Whichworker appearsto be moge'consié\ent inthetimeherequires

to complete job? Why?

g

N/
\-

i)  Whichworker isfaster in cqm\ple{ing thejob? Why?

f)  Define range and standard deviztion: state the formula for each encase

2

of ungrouped data. 9

\v s
'/sk
(109
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